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DEPARTMENTAL EXAMINATIONS

SURVEY DEPARTMENTAL TEST — HEAD DRAUGHTSMAN
TEST — PAPER - II

(Without Books)

Maximum Time : 2.30 hours Maximum Marks : 100

IMPORTANT INSTRUCTIONS

DESCRIPTIVE TYPE
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Read the following instructions carefully before beginning to answer the

questions.
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NB: Words of masculine gender in these instructions shall, where the context so
require, be taken to include feminine gender.
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1. Answers in excess of the prescribed number of questions appearing at the end of the answer ‘
book will not be valued.
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2. In case of doubt, English version is the final.
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I.  Compute the Azimuth of record of observation for the annexure given herewith.

(25)
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ANNEXURE FOR THE RECORD OF OBSERVATION

Date of observation : 25.03.2016

Value of one division of level : 20”

Longitude : E 78° — 46’ — 29”.58

Lattitude :

h m s

Watch time too fast 0 — 09 — 40.26

N 10- 22-52.92
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R.O L 240-20-20 | 20-20 | 240-20-20
O L 24-40-40 | 40-40 [24-40-40[10[ 7 4-36-20 | 110-49-40 | 49-40 110-49—4OJ 230'29'20‘230 14-30
_O_J L 24-29-40 29-40- 24-29-40( 10| 7 | 4-37-43 | 110-20-00 | 20-00 110»20-001 ¢
R.O L 240-20-20 | 20-20 240-20-20J 229-59-40)
RO | R 60-20-20 | 20-20 | 60-20-20) 230-21-10
0] | B | 235620 | 5620 |23-56-20| 7 | 10 | 4-39-16 | 291-04-00 | 04-00 291-04-00j 230-43-40) 550 9750
QI R | 23-44-20 | 44-20 |(23-44-20| 7 | 10| 4-40-37 | 290-32-20 | 32-20 290-32-2(1 r
RO | R 60-20-20 | 20-20 | 60-20-20) | 230-12-00
Date Declination Difference Parallax Refraction
25.03.16 +1°-34-34".7 - 20°=8".4 65°=2-04".4
26.03.16 1°-58-10".4 +1415.7 25°=8".1 66°=2-10".2
27.03.16 2°-21°-43".3 +1412.9 30°=7".7 67°=2-16".5
II.  Work out the Traverse below and find out the area. (25)
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Angle

CamenTld

85° 18"
166° 03"
107° 30"
88° 10"
204° 01"
38° 04"
210° 54"

Bearing
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99° 40"

Distance
gy (BLLm) -
189.9
38.6
164.9
217.8
70.0
118.6
104.9
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In the given triangle ABC, the length of the side b = 193.2 and side ¢ = 144.8 metres. The
angle of Iﬁ is 36°39'40". Find out the angles of L;?, |_C and the length of side a. (15)
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Write short notes on the following. (15)
(a) The Horizon -
(b) Celestial meridian

(c) . Meridian

(d) Mean time

(e) Purtal line
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What all the documents to be prepared by the completion of Modern Town survey? (10)
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Explain in detail about Taluk account Number 6, 7 and 8A. (10)
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